Addendum No. 1, Issued January 15, 2015

Title: Community Development Block Grant
Downtown Roadway Pavement Rehabilitation
Phase 6 in Antioch, CA (P.W. 678-6)

Bids to be received by 2:00 p.m. January 20, 2015 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
1.	LS	1	Mobilization, complete in place for the lump sum price	\$42,000	\$4200
2.	LS	1	Water pollution control, complete in place for the lump sum price	\$ 2,500	\$2,500
3.	LS	1	Traffic control, complete in place for the lump sum price	\$ 18,500	\$28,500
4.	LF	1,200	Concrete curb and gutter, complete in place for the unit price per lineal foot	\$45-	\$54,000
5.	SF	2,200	Concrete sidewalk, complete in place for the unit price per square foot	\$ 1\-	\$24,200
6.	SF	750	Concrete driveway approach, complete in place for the unit price per square foot	\$ 13,50	\$10,125
7.	EA	13	Concrete curb ramp, complete in place for the unit price per each	\$4,300	\$ 56,900
8.	SF	1,100	Concrete valley gutters, complete in place for the unit price per square foot	\$ 20	\$ 22,000
9.	EA	3	Reconstruct storm drain catch basin tops, complete in place for the unit price per each	\$2,100	\$6,300
10.	CY (Final)	575	Roadway excavation, complete in place for the unit price per cubic yard	\$3(0-	\$20,700
11.	SF	9,100	Stabilization fabric, complete in place for the unit price per square foot	\$. 25	\$2,275
12.	SF	9,100	Geogrid, complete in place for the unit price per square foot	\$ - 25	\$2,275
13.	TN	850	Aggregate base, complete in place for the unit price per ton	\$ 35 -	\$29,750

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
14.	SF	136,000	Cold planing full width of roadway, complete in place for the unit price per square foot	\$ = 15	\$ 20,400
15.	SF	46,000	Cold planing plug cuts, complete in place for the unit price per square foot	\$.17	\$7,820
16.	SF	79,000	Engineered pavement mat, complete in place for the unit price per square foot	\$ 022	\$ 17,380
17.	TN	3,200	Asphalt concrete, complete in place for the unit price per ton	\$ 81,25	\$ 21,00,00
18.	LS	1	Thermoplastic traffic stripes, pavement markers and pavement markings, complete in place for the lump sum price	\$ 5,600	\$5,000
			TOTAL BID PRICE	\$ 1011 10	

TOTAL BID PRICE Sixturdredeleventha	contrability of went file
(Written in Words)	dollars ?

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. Rosco Bothers	848835	Oalhland, CA	corcrete
2. Christ Company	374600	Stockton, CA	SHIPING
3. Telses	982557	P. Hobourg, CA	sabric 3%
4. JCC Inc.	981269	Concord, CP	acjustatilitie
5.	El Santa		
6.			
7.			-
8.	S. D. C. D.		
9.			
10.			
11.		,	
12.			
13.			
14.			
15.			

END LIST OF SUBCONTRACTORS

Addendum No. 1, Issued January 15, 2015

Title: Community Development Block Grant
Downtown Roadway Pavement Rehabilitation
Phase 6 in Antioch, CA (P.W. 678-6)

Bids to be received by 2:00 p.m. January 20, 2015 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
1.	LS	1	Mobilization, complete in place for the lump sum price	\$ 56.719. s	56719.
2.	LS	1	Water pollution control, complete in place for the lump sum price	\$ 1,313.50 \$	1,313.50
3.	LS	1	Traffic control, complete in place for the lump sum price	\$ 25,105. \$	25 105.
4.	LF	1,200	Concrete curb and gutter, complete in place for the unit price per lineal foot	s 52.60 s	63,120.
5.	SF	2,200	Concrete sidewalk, complete in place for the unit price per square foot	\$ 15.65 \$	34430.
6.	SF	750	Concrete driveway approach, complete in place for the unit price per square foot	\$ 22.65	16987.50
7.	EA	13	Concrete curb ramp, complete in place for the unit price per each	\$ 4,735. s	61,555.
8.	SF	1,100	Concrete valley gutters, complete in place for the unit price per square foot	\$ 25.35	27,885.
9.	EA	3	Reconstruct storm drain catch basin tops, complete in place for the unit price per each	\$ 2,707.35	8 122.05
10.	CY (Final)	575	Roadway excavation, complete in place for the unit price per cubic yard	\$ 47.30 s	27 197.50
11.	SF	9,100	Stabilization fabric, complete in place for the unit price per square foot	\$ 0.15 s	1365.
12.	SF	9,100	Geogrid, complete in place for the unit price per square foot	s 0.17 s	1.547.
13.	TN	850	Aggregate base, complete in place for the unit price per ton	\$ 29.60 s	25,160.

Item No.	Unit	Quantity	Description	ι	Jnit Price	Extended Amount
14.	SF	136,000	Cold planing full width of roadway, complete in place for the unit price per square foot	\$	0.38	\$ 51 680.
15.	SF	46,000	Cold planing plug cuts, complete in place for the unit price per square foot	\$	0.41	\$ 18,860.
16.	SF	79,000	Engineered pavement mat, complete in place for the unit price per square foot	\$	0.23	\$ 18170.
17.	TN	3,200	Asphalt concrete, complete in place for the unit price per ton	\$	88.25	\$ 282 400.
18.	LS	1	Thermoplastic traffic stripes, pavement markers and pavement markings, complete in place for the lump sum price	_\$_	10,780	,\$ 10,780,-
			TOTAL BID PRICE	\$	732 3	396.55

134010	
Seven Hundred and Thirty-Two Thousand, TOTAL BID PRICE: Three Hundred and Ninety-Six and 55/100 - (Written in Words)	

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

BAY CUTES PAVING & GRADING, INC.

Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. ABSL Const	621781	Socramento	AC Grinding-4%
2. Super Seal - Stripe	396627	Fillmore	Striping - 1%
3. Telfer Geosynthetics	982557	Pittsburg	Pavement Mat - 2%
4. Johnson Const Co	981209	Martinez	Adj Utilities-49
5.			
6. ROSAS BRATHERS CONST.	848835	OAKLAND	CONCRETE - 26%
7.			-
8.			
9.		·	
10.			
11.		1	
12.			
13.			
14.			
15.			

END LIST OF SUBCONTRACTORS



Addendum No. 1, Issued January 15, 2015

Title: Community Development Block Grant Downtown Roadway Pavement Rehabilitation Phase 6 in Antioch, CA (P.W. 678-6) Bids to be received by 2:00 p.m. January 20, 2015 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
1.	LS	1	Mobilization, complete in place for the lump sum price	\$ 75000-	\$ 75000 -
2.	LS	1	Water pollution control, complete in place for the lump sum price	\$ 1500 -	\$ 1500-
3.	LS	1	Traffic control, complete in place for the lump sum price	\$ 35550-	\$ 35550 -
4.	LF	1,200	Concrete curb and gutter, complete in place for the unit price per lineal foot	\$ 63-	\$ 75600-
5.	SF	2,200	Concrete sidewalk, complete in place for the unit price per square foot	\$ 12-	\$ 26400-
6.	SF	750	Concrete driveway approach, complete in place for the unit price per square foot	\$ 15	\$ //250-
7.	EA	13	Concrete curb ramp, complete in place for the unit price per each	\$ 5/00 -	\$ 66300 -
8.	SF	1,100	Concrete valley gutters, complete in place for the unit price per square foot	\$ 17-	\$ 18700 —
9.	EA	3	Reconstruct storm drain catch basin tops, complete in place for the unit price per each	\$ 2100-	\$ 6300 -
10.	CY (Final)	575	Roadway excavation, complete in place for the unit price per cubic yard	\$ 37 -	\$ 21275
11.	SF	9,100	Stabilization fabric, complete in place for the unit price per square foot	\$:33	\$ 3003-
12.	SF	9,100	Geogrid, complete in place for the unit price per square foot	\$ 138	\$ 3458-
13.	TN	850	Aggregate base, complete in place for the unit price per ton	\$ 25	\$ 21250-

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
14.	SF	136,000	Cold planing full width of roadway, complete in place for the unit price per square foot	\$.30	\$ 40800'-
15.	SF	46,000	Cold planing plug cuts, complete in place for the unit price per square foot	\$.44	\$ 20240 -
16.	SF	79,000	Engineered pavement mat, complete in place for the unit price per square foot	\$.27	\$ 21330
17.	TN	3,200	Asphalt concrete, complete in place for the unit price per ton	s 108 -	\$ 345600 -
18.	LS	1	Thermoplastic traffic stripes, pavement markers and pavement markings, complete in place for the lump sum price	\$ 4880-	\$ 4880-

TOTAL BID PRICE

TOTAL BID PRICE: Audred Un. (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

GRANITE ROCK COMPANY

Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK	
1. Johnson Const. Co.	981209	Concord, CA	Adjust Utilities	39
2. Murga, Stranged Chal	-4723761 mers Inc.	9 Vallejo, CA	Concrete RO	7
3. Telfer Gessynthetics				2.0
	374600	Fremont, CA	Paring Mat Striping	0,6
4. Chrisp Co. 5. Vanguard Const.	833032	Livermore, CA	Concrete	24
6.		ŕ		
7.			ű.	
8.		9		
9.				
10.				
11.				
12.				
13.				
14.			,	
15.		9		

END LIST OF SUBCONTRACTORS